CHOOSE THE CORRECT 
1. SHE IS SO ……………….! IT’S NO WONDER SHE HASN’T GOT ANY FRIENDS.
A) SHY 			B) LAZY
2. DON’T BE ……………….! SAY AT LEAST “THANK YOU” TO YOUR FRIEND FOR DRIVING YOU HOME.
A) POLITE 			B) RUDE
3. YOU ARE SO ………………………….! HOW COULD YOU LET A 6- YEAR -OLD KID GO TO SCHOOL ALONE?
A) IRRESPONSIBLE		B) UNRESPONSIBLE

4. CHILDREN IN THE PAST WERE NOT AS …………………………… AS THEY ARE TODAY.
A) INOBEDIENT		B) DISOBEDIENT
5. I WOULD NOT LIKE TO BECOME RICH USING ……………………. AND IMMORAL MEANS.
A) ILLEGAL			B) DISLEGAL

6. YOU NEED TO BE MORE ……………… IF YOU WANT TO BE HAPPY.
A) PATIENT 			B) NERVOUS
7. ARE YOU OUT OF YOUR MIND? HE IS TOO ……………………… TO ADMIT HIS MISTAKE!
A) MODEST 			B) ARROGANT
8. SHE IS TOO ……………………….. TO BUY SUCH AN EXPENSIVE CAR, EVEN THOUGH SHE CAN AFFORD IT. 
A) STINGY			B) GENEROUS

9. YOU ARE TOO ………………………. SOMETIMES. TRUTH IS NOT ALWAYS THE BEST CHOICE.
A) UNHONEST		B) HONEST
10.  THAT’S …………………………..! I REMEMBER LOCKING THE DOOR MYSELF. HOW COME IT WAS SEEN OPEN?
A) [bookmark: _GoBack]IMPOSSIBLE		B) UNPOSSIBLE
